Which command will produce the output shown in the graphic?

Graphic shows the output of a router command. The prompt is 

Router#

Output is Capability Codes:R –router, T – Trans Bridge, B –Source route Bridge

S- Switch, H-Host, I- IGMP, r –Repeater

Device ID 
local Interface 
Holdtime 
Capability 
Platform 
Port ID

Tampa 
 Ser1   

128

R

2500

ser0

Assume OSPF is being used on all routers. What happens

Diagram depicts a network of 5 routers and 2 switches. They are connected in a loop router 1 to router2 to router3 to router4 to router5 to router1. Router1 and router4 have switches attached.

Given the above topology, which of the following

Diagram depicts 3 routers connected via serial ports and each has a local Ethernet network attached. Router C has network 172.16.55.0/24 and is connected via its S1 port to RouterA serial0. 

RouterA has the 192.168.3.0/24 network on interface E0. 

RouterA interface S1is connected to Router B S0. RouterB has local network 10.5.27.0/24 attached.

The following access list has been created to prevent traffic from host 204.204.7.122
Diagram depicts a network with 2 routers, 2 switches and a cloud representing the ISP. The network 204.204.7.0 is connected to a switch that in turn connects to the Fa0/0 on router A. Router A s0/0 is connected to router B s0/1. Router B has local network 201.100.11.0 on its Fa0/0 (via a switch).

Router B connects to the ISP, no details given on the interface.

Refer to the output from the show ip route command.

Output is 

Rtl#show ip route

Routing entry for 1.0.0.0/8

Known via rip, distance 120 metric 1

Redistributing via rip

Advertising by rip (self originating)

Last update from 192.168.57.7 on serial0/0, 00:00:08 ago

Routing descriptor for blocks 

*192.168.75.7 from 192.168.75.7, 00:00:15 ago via FastEthernet0/0

Route Metric is 1, traffic share count is 1

192.168.57.7, from 192.168.57.7, 00:00:08 ago, via Serial0/0

Route metric is 1, traffic share count is 1

The administrator knows that port E0 on router B connects to a small LAN

Diagram depicts a network of 3 routers. Router A has 2 connections. E0 has the IP address 203.16.47.1 Interface S0 has the IP address 220.17.29.1 and connects to router B S1 IP address 220.17.29.2. Router B has 2 other connections. Interface E) has IP address 199.65.174.1 Router B S0 has IP address 157.168.74.1 and connects to router C interface S1, IP address 157.168.74.1. Router C interface E0 has IP address 206.85.74.1

Refer to the above graphic. When using RIP as the routing protocol, how

Diagram depicts a network of 5 routers. Chicago (a router) is connected to routers 1 2 and 3. Routers 1, 2 and 3 connect to router New York.

he internetwork needs to communicate between the hosts connected to the E0 interface of the

Diagram depicts a network of 2 routers, 2 switches, a cloud representing the internet and 4 workstations.

2 workstations are connected to a switch that in turn connects to the Utah router on interface E0, IP address 172.31.1.1/24. Utah connects via S0, IP address 172.31.2.1/24, to Idaho router, interface S1, IP address 172.31.2.2/24. Idaho interface E0, IP address 172.30.3.1/24, connects via a switch to 2 other workstations. Idaho interface S0, IP address 201.100.22.5/30 connects to the ISP.

Refer to the exhibit. An ACL has been created that will deny

Diagram depicts a network consists of 2 routers, 2 switches, a workstation and a server. The workstation, IP address 192.168.7.89/24 is connected to a switch that connects to router2 Fa0/0. Router2 S0/0 connects to Router3 interface S0/1. Router 3 interface Fa)/0 connects to a switch that in turn connects to the server IP address 10.6.13.254/24

Which of the following are valid static

Diagram depicts a network consisting of 3 routers. Router A has local network 192.168.1.0/24. Router A interface S0, IP address 192.168.2.1/24 connects to router B interface S1, IP address 192.168.2.2/24. Router B has local network 192.168.3.0/24 connected. Router B interface S0, IP address 192.168.4.1/24 connects to Router C interface S1, IP address 192.168.4.2/24. Router C also has local network 192.168.5.0/24

Router B received an interface configuration change.

Diagram depicts a network consisting of 3 routers. Router A has a connection, interface E0, IP address 203.16.47.1. Router A interface S0, IP 220.17.29.1 connects to router B, interface S1, IP 220.17.29.2. a Connection on Router B interface E0, IP address 199.65.174.1 is depicted. Router B interface S0, IP 157.168.74.1 connects to router C, interface S1, IP 157.168.74.2. Router C has a connection on interface E0, IP address 206.85.74.1

A network administrator trying to deny Telnet traffic from the 192.5.5.0

Diagram is a text box with the following information.

Router(config)#access-list 101 deny tcp 192.5.5.0 0.0.0.255 201.100.11.0 0.0.0.255 eq 23

Router(config)#access-list 101 permit ip any any

Refer to the network graphic. A packet needs to travel from Router F 

Diagram depicts a network consisting of 7 routers, named A to G

A connects to B via a T1 line.

A connects to D via a 56k connection

A connects to C via a T1 line

B connects to D via a T1 line

C connects to D via a 56K connection

D connects to E via a 56K connection

E connects to F via a 56K connection

E connects to G via a 56K connection

F connects to G via a T1 line

Refer to the network and routing table entries shown in the graphic. What will happen

Diagram depicts a network of 4 routers and a cloud representing the internet. Router C, interface E0 IP 110.90.1.1 connects to the internet cloud. Router C interface S1, IP 192.10.1.2 connects to router A, interface S0, IP 192.10.1.1

Router A interface S1, IP 197.15.5.1 connects to router B, interface S0, IP 197.15.5.2

Router B interface S1, IP 168.58.14.1 connects to router D, interface S0, IP 168.58.14.2. Router D, interface E0, IP 192.66.7.1 connects to the internet cloud

Some text is included in the diagram

Router A routing tables

R 168.58.14.0 [120/1]via 197.15.5.2, 00:00:13,Serial1

R 110.90.1.0 [120/1] via 192.10.1.2, 00:00:25, Serial0

C 192.10.1.0 is directly connected, Serial0

C 197.15.5.0 is directly connected, Serial1

The network shown in the graphic is using RIP as the routing protocol

Diagram depicts a network of 3 routers, Miami, Key west and Palm Beach

Miami has local networks 192.168.2.0 and 192.168.3.0. Miami connects to Key West on network 192.168.1.0

Key West has 2 local networks connected 192.168.4.0 and 192.168.6.0

Key West connects to Palm Beach on network 192.168.7.0

Palm Beach has local network 192.168.8.0

